
−1.5

1 +5y

wheny =−3

−
5

2x +
3

when x =
−1

5m +
3

w
hen m =

7

b 2 + c 2 +6
when b=2 & c=3

p −n
2

whenp=100& n=5

12

15 −
2f

when f =
4

5 +
2t

when t =
12

10 −
x

when x =
−4

31

4t + ht + hwhen t=2 & h=3

1.8
−

2.
7

4k −
1

when k =
3

3

7

15
 −

2f
w

he
n 

f =
5
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Instructions.

Print on to card and laminate. If making
a class set it is best to use a different
colour for each jigsaw so they can
easily be sorted. Cut out the pieces.



−14

2

75

2x +
3

when x =
−3

1
17

32

30
 −

2n
2

w
he

n 
n 

=
3

38

12(w−3)

when w = 2

5

4.4

x
3

when x =
6

14

4k − 1when k = 11

5 
+

2t
w

he
n 

t =
2

4k −
1

when k =
1

3x +
2

w
hen x =

10

9

5 
+

2t
w

he
n 

t =
5

stay that I’m

Einstein

so
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Instructions.

Match the questions and answers to
make one big shape. This will reveal an
inspirational quote.



−12

4b +3

whenb =−2

2.
2

3x +
2

when x =
5

3x +
2

w
hen x =

2

2x + 3when x = 1.5

10
 −

x
w

he
n 

x =
 −

21
6

3(f −
2.5)

when f =
2

−
3

29

14 −
z

when z =
16.7

15

11

43

42
 −

2y
2

w
he

n 
y =

4

19

10

2x +
3

2 +
x

w
hen x =

3

8

10 −x

whenx =5.6
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